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TOTAL JlEfif #TOTAL | NET TOTAL | JIEfZ  TOTAL NET ]
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325 1 340 4
i \ % L 3 i
K 4 OUT | IN TOTAL HDCP NET K 4 OUT IN TOTAL HDCP NET
B R E = 40 @ 37 77 % 48 722 B & 8 F 41 42 83* B84 746
F OE B F 41 | 40 81 * 60 750 O OE2E B T 39 | 44 @ 83 * 96 734
B H B F 41 40 81 * 60 750 A B B E F 40 @ 46 86 *| 10.8 75.2
- 44 | 42 86 * 12.0 740 2 X E A A 41 | 47 88 *| 60 820
¥ O % m F 40 | 46 86 | 108 75.2 ‘
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TOTAL JBf: TOTAL NET TOTAL JEff TOTAL NET
EF XKHERE ‘
331 2 345 5
K % ~ OUT IN TOTAL HDCP? NET K & OUT | IN TOTAL HDCP? NET
A + K & F 36 | 41 77 * 24 746 & B F F 37 | 42 79* 48 742
A R £ & F 43 | 40 83 * 72 758 5B B K — #& 44 | 37 81 * 6.0 750
g M A ® 41 | 44 85 * 10.8 742 w KX g B F 45 | 46 91 *| 144 766
g R & F 42 | 44 86 * 132 728 ol B oM F 45 | 49 94 * 144 796
kK = 45 | 46 91 | 144 (76.6 T OB X F 45 | 54 99 | 16.8 82.2
TOTAL | JIEfiLf | TOTAL | NET TOTAL | JlEfL TOTAL | NET
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K 4 OUT  IN TOTAL HDCP NET K 4% OUT | IN iﬁTOTAL HDCP NET
B X kK H 43 40 83 * 96 734 8 B M F 38 48 86 * 132728%
H O B = 39 | 45 84 * 120 720 oA 8 F 42 44 86 * 120 740*
E O O@ #, kK 41 | 43 84 * 96 744 W h B OF 43 | 43 86 * 84 716*
H & ¥ F 38 | 48 86 * 108 752 [ ¥ 48 | 46 94 *| 96 844*
Wb X F OB 45 | 49 94 168 772 5 X B T 62 42 104 | 168 872
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8% K = @ O F 43 | 41 84 * 108 732* 5 ¥ E F 44 | 40 @ 84 * 120 720*
/A " U~ 45 | 43 88 * 132 748* (I #E VYV ¥ F 47 | M 88 * 108 77.2*
v E B F 43 | 47 90 * 132 768  |F & B E F 46 | 46 92 * 192 728*
5 A F L | 43 | 48 91 * 156 754* I B T Z =% . 48 | 45 93 * 132 798
N K = 43 | 49 92 156 764* /A O # F 48 47 95 204 746*
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E £ OUT IN | TOTAL HDCP NET K % OUT | IN | TOTAL HDCP NET
I s 42 43 85 * 84 766* 5 B X F F 42 45 87 * 156 714*
OB M F 44 | 44 88 * 108 772 N BE B £ F 44 | 45 89 * 84 806*
¥ % B F 42 | 47 89 * 120 770* oKX = 1+ F 45 | 46 91 * 144 766*
H & & KR F 42 | 49 91 * 144 766* H W F E 48 | 45 93 * 192 738*
A ¥ 3 ¥ 46 50 @ 96 | 192 76.8* ‘ ‘ ‘
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K % ouT I ' TOTAL HDCP| NET K 4 OUT  IN TOTAL HDCP| NET
R O BF 43 | 42 85 * 108 74.2* E B B B 40 | 47 87 * 144 726*
¥ ®H B F 41 | 45 86 * 108 752* T B B F 46 | 46 92 * 156 764
® OB O F 45 | 46 | 91 * 132 778* M X K H 43 | 50 93 * 168 76.2*
TS S S S = 47 | 45 92 * 192 72.8* XARKRSHF 46 | 47 93 * 204 (72.6*
B = F 45 | 51 | 96 | 16.8 |79.2 bl A # B 2 H 50 | 44 94 | 19.2 748*%*
| | | |
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5 Kk £ ®H F 45 | 44 89 * 132 758*
E 0 R T 41 49 90 * 10.8 |79.2*
g H#H F  F 49 | 42 91 *| 156 754*
ERm & B = 54 44 98 * 192 788*
N B E 54 54 108 | 27.6 804
TOTAL JEfZ TOTAL NET
T
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K % OUT | IN TOTAL HDCP| NET
#w B E F 42 | 45 87 * 12.0 750*%*
¥ # £ B 4 45 | 45 90 * 13.2 768*
B OE R [E F 45 @ 52 | 97 * 216 754*
B H F F 49 48 | 97 * 204 766%*
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K 4 OUT | IN |TOTAL HDCP NET
B & - = 49 | 44 93 * 132 |798*
Bm B JE F 50 49 99 *| 204 786*
Al |\ B =% 46 | 58 104 *| 22.8 81.2
T o3 I A\ 52 | 59 | 111 * 312 /798*
s A B % 55 | 59 114 348 792*




